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Math F251: Another Section 5.4 and 5.5 Worksheet Friday 30 November 2018

Table of Indefinite Integrals
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1. For the following integrals, decide if you would use a u-substitution. If so, just write
down the u-substitution. If not, evaluate the integral.

(a) f@coswsinxdz = u: CoS X

()/a3:+b aﬁ«\}&%%!ﬂ{ 5= & (GY' U= O\K%”L)

© f:wx‘”dw:@) < see explamatisn on back

e
d —
& /e zvinz —"M

e e At pmrar

© f(?:c—?_’”)dz: /?/ XZ n ?’xig s lga 9“‘335“""“&"-‘[‘@[&‘
3. 5

{
q
(f)fw(f+f)dw— S‘ CTRVLLP e fﬁ-x_ﬁﬂ —j{-x/ﬁ :-§;+—C}f@

O
(g) fﬂ’dt= @

(h)/\/f(i—:z= W@‘)—F\)

I S

@) /tanzﬁseczﬂdﬁz U= tonm Q

. dx B B
G) /(1+$2)tan1(:v) a 1= '{:Wn ((;()




2. Complete the u-substitution, or any other work, for the integrals from problem 1.
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